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PP PP P77 0777 P77 2?77?7777 77? P77 P77 7?7?7777 P77 277 7?7?7777

27222 222 222 222222272:-

2PV IR TN NI TNV ?=2 7.
2T TN NN TN TNV V= $$228$ 7272,
3 WN NN 7N TN 7 2= SN 3} $$ 2272,

50 222 2222 7272 2772 777 7 2 = $$2{ 50} $$ 2.7,

$$20 50} $$ 22.22. = $D\frac{ 2°{ 50} }{ 1076} $$ 22.22.
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log x =501og 2—-61og 10
=50(0.3010) — 6
=9

X = antilog 9 = 1000,000,000

Source : Shutterstock.
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$$\frac{ 686} { 2} =\frac{ 26"2+10} { 2} $$
$$=\frac{ 26\times 26} { 2} +5$$
$$=\frac{ 25\times 26+26} { 2} +53$
$$=\frac{ 25\times 26} { 2} +18%$

$$=(1+2+3+\dots +25)+18%$
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